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Direct and Inverse Variation Worksheet Name:

Find the Missing Variable:

1) y_variesdircctl‘ywihx. y = -4 when x = 2, ﬁndywhenx—-6 - @
\= ‘Lx —"\- é-(zs Y=-2X = Z“‘)
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2) y vanes mvexscly thh X. Ify 40 when x 5 ‘ ind X wheny = -5 qu

L\Ovnb k=640 s

3) y varies inversely with x. If y = 7 when x = -4, find y when x = 5. @
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4) y varies directly with x. If y = 15 when x = -18, find y when x = 1.6.

5) y varies directly with x. If y = 75 when x =25, find x when y=25.

Classify the following as:  a) Direct b) Inverse - -t) Neither
direct ot £
6) m=-5p \ 9)c= -4 12)c=3v

e
10)n="%f 3y u=18 W= mb @

)
'8)d =4t @ 1)z= ¢ nweese,

n for the following?
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Nr=

What is the constant of va
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14) d = 4t 15)z= ¢ y) 16)n="%f 17)r=t

Answer the following questions.
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18) If x and y vary directly, as x decreases, what happens to the value of y?
19) If x and y vary inversely, as y increases, what happens to the value of x?
20) If x and y vary directly, as y increases, what happens to the value of x?

21) If x and y vary inversely, as x decreases, what happeﬁs to the value of y?



INDEPENDENT PRACTICE

1. R varies inversely with variable T. If R is 168 when T =24, find R when
T =30. HINT: Remember y = %

*2 The \‘olume| V, of a gas varles invergaliegs the pressure, p.in a
container. If the volume Of a ¢ gas i @ hen the pressure iters
per square centimeter, find the vo 0 the nearest tenth) when the

ressure is 2.8 liters per sq centimeter.
¢ 320 . 3220

V=3 =36 V"7
k=320

3. In science, one theory of life expectancy states that the lifespan o
mammals varies inversely to the number of heartbeats per minute of the
animal. If a gerbil's heart beats 360 times per minute and lives an
average of 3.5 years, what would be the life expectancy of a human with

an average of 72 beats per minute? Does this theory appear to hold for
humans?

N

4, The values (9.7, 8) and (3, y) are froriation. Find the
lue and round to the nearestNesrdredth.
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5. A drama i}b is planning a bus trip to New York City to see a Broadway
play. The cost per person for the bus rental varies inversely as the
number of people going on the trip. It will cost $30 per person if 44
people go on the trip. How much will it cost per person if 60 people go
on the trip? Round your answer to the nearest cent, if necessary.




